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What is the name for the relationship
between a firm’s output and the quan-
tities of factor inputs that it employs?
A along-run production function
B aleng-run average cost function
C productive efficiency
D returns to scale

[J0S/P3/06]

Which diagram shows a firm’s total
fixed cost curve?

A y B

costs

costs

costs

0

- O  output

[J08/P3/Q7]

output

What explains why both large and
small firms are often found within the
same industry?

A There are significant barriers to
the entry of new firms into the
industry.

Firms that assemble the final
product buy component parts
from other specialist firms.

6.

C Production is subject to
diseconomies of scale,
D All firms in the industry produce

identical products,
[J08/P3/Q8]

Which statement explains why labour
is subject to the law of diminishing
returns in the short run?

A As additional workers are hired,

total output decrcases,

B As employment increases, the
capital-labour ratio falls.

As employment increases, wage
rates will have to be increased.

As output increases, eventually
diseconomies of scale will occur.

[NOS/P3/04]

When a firm increases all its inputs by
300 %, its output increases by 200 %.

What does this illustrate?

A the law of diminishing returns

increasing returns to scale

diseconomies of scale

the law of variable proportions
[NOS/P3/Q7]

B
C
D

The table shows the production of &
fimm,

ﬁroduetion (tonnes) | total cost ($) _

0 20
1 30
2 35
3 40
4 45
5 50

—

T T
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1. A Production fyp,
tion shows how qufpy
will be affectad by chap,
ges in the quantity of gng
or more of the inpuls,

2, C Total fixed cogl |
is independent of the
level of output,

3. B Small firms exisl
because they supply
parts of the producls
produced by large fims |
at low cost. ‘

4, B In the short mn,
as more workers are &
plied to a fixed amount
of capital the ratlo with
which the two inputs &t
combined decreases and
gives way to diminishing
returns, Option A IS It
correct becauseé foa
may be rising put at 8
decreasing rate. O'plloﬂ

Joas not nacassariy ha#
penand D suggests fong
run, _

5 ¢ Al Inputs T
crease In the 1ond %
Hence, options A i
are Incorrect as both se[_
gest short run: he P"w
centagas gIve" ": P
statement suggessca,e
sreasing returmn toscale)
(diseconomi®s fnetagﬁ
where a givenP ’CI ult
increase In lnP_”‘se sl
in a smaller % incf ion 8
output, Althoug?” U?]pbul 5
indicates IO_“QJ‘a give"
incorrect

situation.
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A Leovel Economics (MCQ)
What is the average variable cost of
producing S tonnes of output?
A $4.00 B $5.00
C $6.00 D $10.00
[NOS/PI/QS)
7. An cconomist calculates that a firm
has incurred the following costs over
the course of a year,
$(000)
wages and salaries 150
opportunity cost of owner's time 40
materials §0
rent 30
marketing fees 20
interest on bank loans 25
interest forgone on finance
provided by owner 15
By how much does total cost as
defined by an cconomist exceed the
total cost as defined by an accoun-
tant?
A $15000 B $40000
C $55000 D $85000
[J09/P3/QS5)
8. A manufacturing firm has one plant of

optimum size.

The firm builds a second plant identi-
cal to its first plant. The firm then

finds that its long-run average cost
has risen.

What could account for the change in
its long-run average cost?

A diminishing returns

external diseconomies of scale
managerial diseconomies of scale
technical diseconomies of scalo

[J09/P3/Q6]

B
C
D

9,

1(

Toplo 1.2 & page 4

Which statemaont dosoribon o sltuntion
In which n elao In Input of fwetor X, nll
other Metors belng constant, rosults
In no change In o Gem's ontput?

Thero are dimintshing roturns 10

factor X,

Returng to senlo nro conatant.

There are diseconomlos of sonlo,

The marginal product o X I zoro,
INOD[ P QY]

(oxpllalt cosl)

opportunlty cost of
ownor's limo
(Impllglt cost)

matorlals (oxpliclt

wigos and salarlon

008t)
ront (oxplicit)

markoting foos
(oxplicit cost)

Intorast on bank
loans (oxplicit)

Intorost forgona on
finance providad by
ownar ([mpllgit cosl)

HELPS o MGQ

0, 0 Tolal ol = |
fIxa( 6onl = varlable

oonl, I'xnd gosl 1s

[ooatad al zaro oulpul,

['Ixad coala = 20, hanoe

B0 = 20 = 80,

VO 40
AV = 0 I, 6= 5

7, G Accountania do
not racognize Implial

oonl,

Eeonomlst's | Acaountant's
cont $(000) | eosl (000)
160 160

40

80 00
30 30
20 20
25 26
15 -
360 305

). The table shows the inputs of the two

factors of production, capital and
labour, needed to produce varying
levels of output.

output | eapital | labour
100 N 10
200 N 16
300 14 28
400 20 40
500 20 52

Over which output range do increns-
ing returns to seale ocenr?

A 10010 200 B 200 to 300
C 30010400 D 400 to 500
(N09/P3/Q8]

8 G Incroase in the
number of plants might
make It difficult to co-or-
dinate planning, markot-
ing, production and so on,
causing the firm's LRAC
lo riso. Option A sug-
gosts short run production
function whereas option
B Indicates rising per unit
sost due to the growth of
industry. Option D relates
o the change in technol-

ogy.

9. D NochangeinTP
indicates that MP = 0. Di-
minishing returns sug-
gosts that TP increases
at a decreasing rate i.e.
MP decreasos, hence op-
tion A Is Incorrect. Op-
tlons B and C suggest
long run and the situation
given inthe question indi-
catos short run.
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11. The schedule shows the short-run
marginal cost of producing good X.

units of X 1 2 3 4 5

marginal cost ($) | 40 | 30 | 30 | 60 | 120

Given that the total fixed cost is $20,
what level of output minimises aver-
age total cost?

A 2 units B 3 units
C 4 units D 5 units
[J10/P3/Q6]

12. Which is an example of an external
diseconomy?

A difficulties in co-ordinating activi-
ties in a large organisation

B difficulties in motivating workers
in a large organisation

. C higher transport costs as a firm’s
) market expands
4

D increased traffic congestion as in-
dustries expand
- [J10/P3/Q7]

13. In the diagram, the curve shows the
various combinations of labour and
capital that can be employed to pro-
duce a given level of output.

A firm chooses the combination of

labour and capital shown by point X
on the curve. o

4

capital

o labour

What could explain why the firm later
chooses the combination of labour
and capital shown by point Y?

A an increase in capital productivity
B an‘increavse in interest rates

C an increase in labour productivity
D an increase in wage rates

[N10/P3/Q5]

14. The diagram shows a firm’s short-run

cost

15.

0]

marginal cost curve.

1

SRMC

OF---

output

What explains why the curve is up-
ward sloping at output levels above

0oQ?

diseconomics of scale

inelasticity of supply

A
B
C rising fixed costs
D

the law of variable proportions

[N10/P3/08]

Which diagram correctly shows. the
relationship between the average
product (AP) and the marginal prod-
uct (MP) of labour given that the
quantities of other factor inputs re-

main constant?

A
MP
AP
product
0 labour e
7\ B
product
Mp AP
8 labour >
I C
product |
AP MP
0 labour

3

10. A

[0 change m
ininputs | i e

60 | 10

75 5

28 | g
2

| |

Increasing returng
scale is when % ¢,

in inputs is smaller |
% change in output,

1. B

Unit

ofx | MC | TC | AT
0| - [ 20|
1140 | 60| g0
2 13094
3 130 (120 4
4 | 60 |180| 45
5 | 120 | 300 60

12 D An external

diseconomy is the direct
consequence of growth
of industry. Options A, B
& C refer to internal
diseconomies.

13. B Interest rate is
the price of capital. Thus
a rise in interest rate
would encourage firms
to substitute capital with
labour.

14. D Law of variable
proportions (diminishing
returns) suggests thata
fall in retumns (MP) to the
variable factor causes
SRMC to rise. Dis-econ”
mies of scale are r'elat?d
to LRMC hence Ais I
correct. Elasticity of S
ply determines slope ®
SRMC while change
fixed cost does notd
SRMC.
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16.

17.

18.

D
b MP, e
product
o labour

[J11/P3/Q4]

What is the name for the relationship
between a firm’s output and the quan-
tities of factor inputs that it employs?

- A along-run average cost function

B along-run production function
C productive efficiency

D returns to scale
[J11/P3/05 ]

The table shows the levels of output
of-a good which can be produced with
different combinations of labour and
capital.

capital labour St
(number of | (number of f
f R (units)
machines) | workers)
2 6 100
2 7 106
2 8 108
4 12 200

Which characteristic of the produc-
tion function for this good does the
table show?

A a fixed ratio between capital and
labour inputs

B constant returns to scale
C increasing marginal productivity
of labour
D technical economies of scale
[N11/P3/07]

The short-run total costs (SRTC) of a
firm are given by the formula

SRTC = $(10000 + 5X>) where X is the
level of output.

What are the firm’s average fixed
costs?

A $10000 B\S('OOO;’(*SX’)
o $10000 p $10000
X 5X3
[NLIP3IQS]

19.

20.

22.

What would be most likely to con-
strain a firm’s ability to grow?

A the increased difficulty faced by
the firm in marketing its product

B the increased risks arising from
product diversification

C the increasing costs of distribut-
ing goods from a given location

D theincreased difficulties faced
‘by the management in coordina-
ting production

[N11/P3/09]

A firm experiences discconomics of
scale over its entire range of output.

What is the shape of its long-run av-
crage cost curve?
A Itis horizontal.
B Itis ‘U’ shaped.
C It slopes downwards.
D It slopes upwards.
[J12/P3/Q5]

. Which is a financial cconomy of

scale?

A lower costs in raising capital

B lower costs of marketing

C lower risk duc to diversification
D lower variable costs of produc-

tion

[J12/P3/06]

The table shows a firm’s total costs of
production,

production (tonnes) | total cost ($T
0 40
1 60
2 70
3 80
4 90
5 100

What is the average variable cost of
producing 5 tonnes of output?

A $8.00 B §10.00
C $12.00 D  $20.00
[J12/P3/Q7]

HELPS t NMICQ

15. B The typical rela-
tionship between the two
curves can bo summa-
rized as; -

* When AP curve rises
MP curve remains above
AP,

* The Iwo curves inter-
sect at the highest point
of the AP,

*  When AP curve falls
MP curve remains below
AP.

16. B A long run pro-
duction function reflects
the relationship between a
firm's output and quanti-
ties of factor inputs that
it employs,

17. B A firm is subject
to constant returns to
scale if both its inputs
and output change with
the same proportion. In
the table increase in in-
puts = 100%. Note that
number of machines rises
from 2 to 4 while number
of workers increases from
5 to 12. Increase in out-
put = 100% i.e. 100 to
200.

18. C In a total cost
function the constant
value represents FC and
AFC=FC/Q,

19. D Managerial dise-
conomies result in a
higher per unit cost,
therefore, constrains -a
firm's ability to grow.

20. D Diseconomies of
scale cause LRAC curve
to slope upward.

21. A Financial eco-
nomy refers to a large
firm being able to raise
capital at lower costs.
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23. An economist calculates that a firm

24.

has incurred the following costs over
the course of a year.,

What is minimised at output 0Q?

A average fixed cost
B average total cost

‘Which curve is the firm’s long-run
average cost curve?

A JLN B JLM
C KLM D KLN
[J12/P3/09)
25. The diagram shows a firm’s short-run
total cost curve (TC).
4 TC
fotal
cost
0 Ll
output

r $(000) C average variable cost
in 5t
wages and salarics 150 D - marginal cos P13
oppottunity cost of owner’s time 35
st} 80
tmaterjols 30 26. An cconomist calculates that an
fent owner-managed firm has incurred the
marketing fees 20 following costs over the course of a
interest on bank loans 25 year.
interest forgone on finance 10 -
provided by owner $(000)
e of two employees 150
By how.much does total cost as ‘_v“"“‘“'ml“"f"‘!"")w’ o
defined by an economist exceed the fee paid to wife for secretarial services 20
total cost as defined by an accoun- opportunity cost of owner's time 30
tant? materials 80
A $75000 B $45000 rent 30
C $35000 D $10000 marketing fees 20
ok [112/P3/08) interest on bank loans 25
interest forgone on finance provided by 5
The diagram shows a firm’s short-run (2
and long- 5
R LN AV Eragoy CORlGHEVES: By how much does total cost as de-
1} fined by an economist exceed the to-
tal cost as defined by an accountant?
J K M N A 515000 B $30000
cost V C $45000 D $65000
= [NI12/P3/08]
27. A manufacturing firm has one plant of
(o] = optimum size.
output

The firm builds a second plant identi-
cal to its first plant. The firm then
finds that its long-run average cost
has risen.

What could account for the change in
its long-run average cost?

= Page g
HELPS g

2. C At0out
TC=FC &

)

units | TC~FC =y

Ve
=

40-40=0
60-40:20 20
70-40=3p | s
90-40=50 125
100-40 =60 12

— 1 |

R WM = O

23. B Accountants g,
not recognize implict
costs while economistg
recognize both implict zng
explicit costs. In s
table both the Opportunity
cost of owner's time arg
interest forgone on fi.
nances provided by own-
ers are implicit costs ang
the rest are explicit
costs. ‘

24. A The graph de- |
picts standard relationship |
between LRAC curve and
LRMC curve. LRM cune |
remains below LRAC
curve when LRAC cune |
decreases and remains |
higher when LRAC curve
rises.

25. C At output 00
the slope from the origin
on VC curve is the low
est i.e. lowest AVC.

26. C Accountants dp
not recognize implicil
costs while economi§l§
recognize both explic
and implicit costs:

A diminishing returns accountants’ econon:iSlS
. . €0S!
B external discconomies costs _,150/
of scale wages 150 ;
C managerial lea paidto wife | 20 2
diseconomics of scale ;3_03‘ of owner's -
, . . ime
D (echnical diseconomies 80 80
. materials ‘
of scale 0 30 ‘
rent 3 x |4
[N12/P3/Q9]  |marketing fee 20 . |
interest on loan 25 5
interest forgone //
— |
//
B
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28, What Is most llkely to be assoolnted
with o flrm that 1s growlng rapldly?
A a high rate of labour turnover
B alow level of net Investmont

C a low percentage of profits paid
as dividends to shareholders

D attalnment of the necessary con-
ditions for allocative efficlency

INI2IP3QL0]

29. An economist calculates that a firm
has incurred the following costs over
the course of the year.

7 $(000)

wages and sdlaries 150
oppottunity cost of owner's time 40
materials 80
renit of bulldings 30
marketing fees 20
interest on batik loans 25
interest forgone on finance

provided by owner 15
depreciation of equipment 20

By how much would the economist’s
calculation of the total cost incurred
by the firm exceed an accountant’s
calculation of the firm’s total cost?

A $15000 B $40000
C $55000 D $75000
[J13/P3/Q7)

30. The diagram shows the long-run
average cost curve of a firm which
faces constant factor prices.

} LRAC

cost

r 0 output

Which economic concepts in the table
explain the shape of the LRAC curve?

( | Thple 1,8 by ¥

oponomles wel { O ol | iy of
diwovonomtes [dmdndshing{ vinlahis
0ol (YT L CRA IR
'T —— ‘7 Y I
I v % i
QO K v v
N X ¥ v
SN

A, Whioh foature of an eeanomy wonll

ho most fvarrahle o e srvivil of
sl fiems!
A onpltl Intenaive produetion
0 economles of seile i |N"H|H"'||"'H
¢ e presence ol w stoele exchingpe
D the wihdesprond wviilability of
ok Tending
R

32, The thle shows o Gem's longron o
tal cost schednle,

”Olﬂll)‘f:'l l‘l‘I:\f!l‘l‘l‘I“H (bl comt (HIEY
. |~()“ . 1)

200 110

J00) | 30
oo 2000

Which graph shows the shipe of the
firn's long=run averige cost curye?

A
LHAG

coslt

\V;V = o o

S—— . - ~

0 output

e LRAC

Gosl

T

0 output

HELPS |, moQ

gl G Ulinlnlabilng  rae
[rhi fimrnlas I (he
W1 W A T Tt
(il Edlutinl stitibiting
il (st e et of
(i Irielisalty, Tieite B 1
Inettiael, Oplist O 1a It
(vl

W, (G Fifing pay luwet
ividlerila besatan they
(e ofe lnatoes in
Grdlar 16 apeniel ot thelt
gl greeth,

M, 0 Ausutinlants wo
(I il chutle opportunity
el of uwner's lire ant
(leraal loryone on -
fjett e provided by owners
lur hase afe implicit
ntisle, Howeayer, atono-
iilal would Inclida them
i thelr valculation of
1als,

0. 1 Diminishing re-
[is of varlable propor-
llons apply in the short
11, LHAG teplols econo-
mles and tliseconomies
s6ale,

M. D Lack of tinance
s the major hindrance in
survival of small firms.
Options A, B & C favour
large firms.

0
TC
oulput | —=AC
p Q
100
100 — =1
100
200 —'20 =0.6
200
150
300 | —=0.
300 5
200
400 | —=0.5
0 | 400

LRAC flrst decreases and
then becomes stable.
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C an increase in traffic congestion

——

HELPS y, Mcq

\ Cc
D upward pressurc on Wages in the
local labour market : 3. C Al zoro oulpy
cost [N13/P3/Q9] ~ TC=FCandVC=y,
Honf:o the origin poiny o
LRAC 35, The table gives information about a VCis where TG curyg iy,
0 o — firm’s costs over a given range of out- l?rsmf Y-axis, T
tout i d in the long slopo of TC curve 1 g
put in the short run and in & s the lowest from the oria
run. ~ gin point of VC, thereiy
ouput (thousand) [ 21]22[23 2425 AVC at Qyis the loweg
short-run average cost ($){20 [ 191817 6| 34 A Complex degj.
long-run average cost ($) | 12[ 13| 14 15(16 sion-making  process
cost - - refers lo manageri
Which conclusions can be drawn dlsgconomy, Al other
about the characteristics of produc- options are - examples of
tion over this output range in the external diseconomies,
o output short run and in the long run?

long run

short run

[NI3/P3/Q7]

decreasing retums to scale diminishing returns

33. In the diagram, TC is a firm’s short- oo,
diminishing returns

run-total cost curve.

economies of scale

increasing returns decreasing retums to scale

TC ¢ .
economies of'scale

o= 3

increasing returns

[J14/P3/Q7]

35. C  Decreasing

36. < b C i < .
The table shows a firm’s marginal — gpan suggests increas-

costs )
oy :;,/ 5 ; costs; ing returns while increas-
- : ' output marginal cost ($) - ng LBAC indicates de-
: : v creasing returns to scale.
; ' ; ! - 40 Options A & B are incor-
. ‘ ' —— 2 30 rect because long run is
(0]
Q . tht e 3 20 subject to retumns to scaé
ouipy 4 30 while diminishing retums
5 40 operates in the short run

Which statement is correct?

A Average total cost is minimised 3. C AFCxQ=TFG

The average fixed cost of producing 5

~ at output OQ,. units is $6. e |
B Average variable cost is What is the total cost of producing 5 ajrrope] T
minimised at output OQ. units? 0% —-@:9’::3:’0’
C Average variable cost is A $46 B $70 Lﬂﬂ%
minimised at output OQj;. C $1% D $230 %%%gm
D Marginal cost is minimised at [J14/P3/09] T—EO—EE@
e | [NI13/P3/08] . pEIDEES

37. What could explain why the propor- ——
. tion of total employment in an the
34, What is an internal diseconomy of economy accountedi‘or){)y small firms [37 Bto E(r)osw f;lr(;: and
scale that often arises as a firm be- decreases? t;:an::: e gcost eﬁec:ii;’:

comes larger?

A amore complex decision-making
process

B an increase in the cost of raising
finance for investment

A a trend towards the use of sub-
contractors to produce
specialised components

B growing technical economies of
scale in manufacturing

ihus account for. @ Al
ence of large I 1 fof
other options acc0 al
lhe existence of

fims.

o
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C growth of the service sector and
a decline in manufacturing

D the opening up of specialist mar-
kets as real incomes rise

[J14/P3/010]

38. The table below shows the relation-

39:

ship between total output and total
costs of a firm given constant factor
prices and fixed factor proportions.

output costs (%)
100 100
200 160
300 180
400 320
500 500

It follows that, over this range of out-
put, the firm experiences

A decreasing returns for output be-
tween 100 and 300 and increasing
returns for output larger than 300.

B increasing returns for output be-
tween 100 and 300 and decreasing
returns for output larger than 300.

C decreasing returns throughout.

o

increasing returns throughout.

[N14/P3/08]

In 2009, the United Kingdom’s largest
grocery supermarket, Tesco plc, cre-
ated Tesco Bank offering a range of
financial services to customers.

~ This is an example of

A external growth and horizontal
merger.

B external growth and vertical
merger.

C internal growth and diversifi-
cation,

D' internal growth and market
concentration.

[N14/P3/09]

J

40. The diagram shows the total product
of labour (TPL) curve for a firm whose
only variable factor input is labour,

r TPL

lotal product
of labour

numboar of workars employod

What explains the shape of the curve?
A diminishing marginal disutility of
work

B increasing marginal disutility of
work

C technical diseconomics of scale

D the law of variable proportions

[J15/P3/04)

-41. What relationship does a firm’s long-

run production function describe?

A the firm’s output and the quanti-
ties of factor inputs employed

B the firm’s long-run average cost
of production and the level of
output

C the firm’s long-run average cost
of production and the quantities
of factor inputs employed

D the prices of factor inputs and the
quantities of factor inputs em-
ployed

[J15/P3/07]

42. The table shows a firm’s total and
marginal costs.

output | total cost | marginal cost
($) (%)
1 340 40
2 375 35
3 400 25
4 435 35
5 475 40

What is the average fixed cost of pro-
ducing 6 units?

A $50 B $60
C $180 D $300
[J15/P3/08]

Tople 1.2 & pago 8

HELPS wMCQ

30, B
Por unit cost
=l

output (3)

0o . |

160 Incroasing
200 ( roturns

320 8 dacroasing
W00 roturns

39, C Creating a bank
suggests internal growth
while entering into an-
other industry indicates
diversification.

40. D  Since only labour
is the variable factor,
therefore, the graph repre-
sents short run and
hence suggests diminish-
ing returns (variable pro-
portions). Options A and
B are irrelevant while C
implies long-run.

#1. A Aproduction
function describes rela-
lionship between inputs
and output.

42. A At zero output
TC = FC. In order to cal-
culate TC at zero output
we subtract MC from the
TC at an output level one

and then %Q = AFC,




A Level Economics (MCQ)

Topic 1.2 O Page 9

R O

43, A {itm experiences external
diseconomies of scale and
decreasing returns to scale.

How would these changes be
illustrated on a cost curve diagram?

\ \ shiftin long-run | movement along long-
average cost curve | run average cost curve
A downward downward
B downward upward
C upward downward
D upward upward
[J15/P3/Q9]

44. Which diagram correctly shows the
relationship between the average
product (AP) and the marginal prod-
uct (MP) of labour, given that the
quantities of other factor inputs re-

‘main constant?

A
3
MP
average 7
product,
marginal
product
0 labour
B
MP
t AP
average
product,
marginal
product
0 labour ¥
A c
average
product,
marginal
product
AP MP
0 labour ?
D
A
average
product,
marginal
product
MP AP
O labour &
[N15/P3/Q5]

45. A fourfold increase in all of a firm’s
inputs results in a threefold increase

in its output.

What does this illustrate?

A decreasing returns to scale

B cconomics of scale

C the law of diminishing returns
D the law of variable proportions

INIS/P3/08)

46. A firm employs two factors of produc-
tion. The table shows the marginal
products of these Fnctors and their

respective costs nl the current lovel of

output,

lind

labour
marginal producl | R
i )
(units) '
marginal cost per unil

of factor (§) ! J

Which adjustment In thetor vsoe would
be most likely to bring the (i nearer
to the least-cost combination ol in-
puts for its current ontput lovel?

Iumlf 7 labhot
A less I
B less Mo
C more s
D more Moy

INLS/P 1Y)

47. Which is a rigk-
scale?

A greater bargaining power
chasing (rom suppliors

B greater diversifiontion of (e
produet range

C lower cosls Iy ralsing eapltal
D lower distribution gostg by
increasing market share

[16/P3/010)

i pue-

48, Which assumption Is made In ealou-
lating a firm’s shor(=yun production
function?

A All factors of productlon ure fixed,

B All factors of production ure virl-
nble,

bearing ¢oonomy of

HELPS MCQ

43. D External disegy,
nomies shift LRAC Qe
upward while decroagn.
returns to scale mak
LRAC curve to slope 1.
ward as scale of Oulpy
increases.

M. D Typical shape;
of AP & MP,

45. A All inputs ¢
change only in the long
run, therefore options ¢
& D are ruled out, Since
the proportionate changs
In Inputs is more than the
proportionate change
output therefore B i
ruled out,

46, B Least-cost-combt
nation implies that

_M_r@_ = MP!abuur
P'and F‘Iatmur
I 5

L.
4 3

Currently, the ratios ae
nol equal. So in ordet 0
gquate them more labolt
should be employed 0
thal Py, falls a0
therelore reduces I
valug of its fraction
Simllarly loss land
croases MP g, and ther®
lote Increases the valé
of its fraction. We nee

lo do these adjustment
untll the values of thes¢
Iwo fractlons are 6qua"

47, B Dlverslllcnllg:
will spread the alskm‘
higher number ol p

uets :
40, ¢ According lo los

lheory technolog) V“'ln.
only in the very 1o
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C The sz of technology 1s fixed.
D Ths =ztz of taechoology is varni-

2.1

20U,
NI§P308]

49, In the &izgram, TC 1s 2 firm’s shont-

cogis

50.

run totz! cost cunve.

1
1
1
1
1
a 1
n 1
rt s 3 .
: .
s ’ " 1
ra P, F 1
£y ' e 1
:- 4 Pe 1
5 P s 1
H £ s Z 9 3
’ L P 1 1
’ L4 ' L] 1
M s 7 a 1
1 L [} i
v L/ s .
’ 4 . 1
174 1
¢ s "
‘s 1 1
e )/ ’ 4
gy 75 ] 1
144 . Pt 1
7 ‘ M 1
- P - 1 -
Q, Q, Q,
output

Which statement is correct?

A Average total cost is minimised
at output OQ,.

B Average variable cost is
minimised at output OQ),.

C Average variable cost is
minimised at output OQj.

D Marginal cost is minimised at
output OQ,.

[N16/P3/09]
The table shows the total cost of a
fim.
output tota[ cost ($)
0 40
| 55
2 60
3 65
4 80

What is the average variable cost of
producing 4 units of output?

A $10 B S$I5
C $20 D $40
[NI6/P3/Q10]

S1.

Which is not a source of market
failure?

A imperfect information
income inequality
monopoly

o 0w

non-excludability
[N16/P3/Q1)]

The government wants to regulate the
consumption of a demerit good in or-
der to increase society's net welfare,
In which situation will society’s net
welfare increase?

A The fall in the marginal social
benefit is greater than the fall in
the marginal social cost.

B The fall in the marginal social
cost is greater than the fall in the
marginal social benefit.

C The fall in the total social benefit
is greater than the fall in the total
social cost.

D The fall in the total social cost is
greater than the fall in the total
social benefit.

[NI6/P3/Q15]

. In 2015, a large mining company said

it would reduce the number of staff by
6000 and sell its less profitable mines
in an attempt to become more effi-

cient.

If it is successful, what is most likely
to happen to its costs?

| total fixed | total variable [ average
cost cost cost
A fall fall fall
B fall fall no change
C fall no change fall
D | no change fall fall
[N17/P3/Q2]

-ril’fop!o"_l.Z @ page 10

HELPS 1t MCQ

49, D MC as moasurod
by the slopo botweon two
succassivo points on TC
curve Is tho lowest at
Q, ATC rolors to tho
slopo of oach point on a
TC curve from origin
tharolora A is Incorroct.
AVC rolors lo tho slopo
of cach point on a TVC
curve from orlgin.

50, A At zoro output
TC = FC. In this caso
FC=40 and TC-FC=VC.

VC
Thon — = AVC
Q

51. B It rofers to oquity
therefore not related to
officiency or market fail-
ure.

52. D Demorit goods
are associated with higher
SC thercfore greater fall
in SC will improve net
welfare.

53, A Selling mines
would lower total fixed
cost while lowering the
numbar of workers would
reduce variable cost.
These two would eventu-
ally lower AC.
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54. The diagram shows the cost curves
for a firm,

:
':
[}
[}
el i |
Y Q;Q
' \ 72 output
What does the firm experience as it
increases output from Q, to Q,?
A decreased average variable cost
B diminishing returns
.C ‘economies of scale
D

“increased profit
' - [N17/P3/Q5]

55..In the diagram the curve TC shows
the relationship between a firm’s total
costs and its level of output.

T S TC
total |
cost

P

56, Which diagram shows the total

o] ‘ !
- output
At output OQ average fixed costs are

A eualtoﬁ
q QR

B equaltogﬁ.
oQ

C equal togE
0oQ’

D measured by the slope of the
Jine OR.
[N17/P3/Q7]

Topic 1.2 © ‘Page 11

rev-
enue function for a firm in perfect
competition?

A
“ TR
revenue
0 output
B
revenue
TR
O output
C
\ TR
revenue
0o outputw
D
A
revenue
TR\
O output
[N 7/P3/Q8]

57. In the year ending July 2016, airline
fuel prices fell by 20.4% while the
price of passenger aircraft increased
by around 1.1%.

Assuming no other changes in the
passenger airline industry, what was
the outcome for fixed costs and
variable costs?

HELPS o mgq

54. B Dlmlmshm

turns causes Mp lof "
and therefore MG 10 rige
Q4 can be marked asth
lowest point on AVG and
after that it rises there,
fore A is incorregt,
Economies of scale

are operative in the long
run while curves suggest
short run, therefore ¢ j
incorrect. For profit we
need to have revenye
curves along with cost
curves, this rules out D,

55. C At zero output

TC=FC and AFC_EC

56. C - Since a fimina
perfectly competitive mar-
ket can sell its output at
the market price, there-
fore its AR-=MR =P. So
2ach additional unit sold
adds same to the TR and
hence TR increases at a
constant rate.




A Lavel Economics (MCQy

Topic 1.2 & page 12

e

fized costs | vatiable costs

i () e——————c——————

-

A decreased decreased
7} decreased increased
( inereased decreased

D increased

increased
ﬁ//i:/l',’;);;i{/
48, ‘The schedule shows the short-run
marginal cost of producing good X,
witsof 2 [ ]2]3]4]s
mmginnl (;«;;;l‘(;@)‘ 4’7 4() 4,’4()‘ )() 70
Ciiven that the total !izcd cost i 550,

which level of output minimises
averape 1otal cost?

A 2 unity B3 unity
! A units D 5 unity
INIBIP3/06]

HELPS o MCQ

57, C Cost on fuel is dependent on output,
therefore it is part of airline’s variable cost and
with no other changes a fall in fuel price must
have decreased airline’s variable cost. There-
fore an increase in price per passenger must
have resulted from an increase in airline’s fixed
cost.

58, D When output = 0, firm's TC = FC. We
then progressively add MC in order to obtain
TC for each increasing level of output and in
order to obtain ATC we divide TC at each
level of output on its corresponding level of

output.

Unitof X| MC TC - | ATC=TC/Q
0 50 -
1 45 95 85
2 40 135 67.5
3 3 165 55
4 20 185 46.25
5 20 205 41
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LIST OF QUESTIONS

(b) ‘Firms undert '
tegration to grow |

ake vertical and horizontal in-
n size. They achieve

Q1  (N09/P4/Q2)

In 2007 BHP Billiton, a large mining group, . .
made a bid to take over Rio Tinto, the world's benefr{'c,lal economies Of scal‘e through
third largest mining group. Such a takeover growth. '
would create the largest producer of copper Consider whether economies of scale are
always caused by integration and whether,
lace for small firms

and aluminium in the world.
; therefore, there is no p
its scale of . ’
a company’s in a modern economy. [13]
(2]

(a) Explain whether increasing
production will always reduce

costs.

Q2 (N10/P4/Q3)

(a) Explain what is meant by internal econo-
mies of scale, and analyse the link be-
tween economies of scale and a firm's
long run average cost curve. [12]

Q3 (J11/P4/Q4)
(a) Discuss whether it is always advantageous

for a firm to grow in size. [12]

Q4 (N11/P4/Q3) '
(a) Consider whether small firms should be
encouraged in an economy. [12]

(b) Economic theory states that large firms
have lower average costs than small firms.
Discuss whether this statement is neces-
sarily true. [13]

Q5 (N12/P4/Q2)
A study found that demand for tickets for exhi-
bitions at a major art gallery had unitary price
elasticity.

(b) Discuss whether the law of diminishing re-
turns contradicts the concept of economies

of scale. [13]

Q6 (N15/P4/Q3)

(a) Explain the meaning of, and the relation-
ship between, diminishing returns, total
product and marginal cost. Use a diagram
to illustrate your answer. [12]
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Question 1

[n 2007 BHP Billiton, a large mining group, made a bid
to tzke over Rio Tinto, the world’s third largest mining
group. Such a takeover would create the largest pro-
ducer of copper and aluminium in the world.

(a) Explain whether increasing its scale of production
will always reduce a company’s costs. [12]

[NO9/P4/Q2(a)]

Essay

(@) Costs can be viewed as the total amount paid by a
firm for the factors of production it uses. From an
economist point of view costs is considered in
terms of opportunity cost i.c. the best alternative
forgone. In the short run total cost is divided into
total fixed costs and total variable costs. But in the
long run no such distinction exists owing to the
varying nature of all different costs. The analysis
of cost structure becomes more meaningful with
the calculation of average cost. Average cost sim-
ply measures cost per unit of output, In the real
world per unit cost is an important tool that busi-
nesses use in their decision making. Average cost
can be measured as:

Total Costs
output

AC=

Total cost (TC) increases as a firm increases its
scale of production, but the rate of increase in TC
varies which makes AC to first fall and then to rise
both in the short and long run.

Expensive investment in acquiring other firms is a
long run decision. Thus it must result in expansion
of scale of production. The impact of changes in
cost structure due to the new investment can be
explained on a firm's long run average cost curve.
A long run average cost curve (LRAC) shows how
per unit cost varies with output on the assumption
that the least cost method of production will be
chosen for each level of output. If the firm experi-
ences economies of scale its LRAC curve will fall
but if diseconomies of scale predominate, the
LRAC curve will rise. If the firm experiences neither
¢conomies nor diseconomies of scale, the LRAC
curve will be horizontal as shown in the figure be-
low;

0]

N SRAC,
\ SRAC:  srac,

d q Output

In the figure above, initially an expansion of out-
put over time leads to a reduction in the unit costs.
These cost saving benefits are referred to as
economies of scale. They occur because the firm's
output is rising proportionately faster than the in-
puts; hence the firm is benefiting from economies
of scale. These benefits come in a variety of ways
known as technical, marketing, financial, manage-
rial and risk bearing economies.

Firstly the firm gains from technical economies. For
instance, as a firm grows in size it may be able to
take advantage of increased specialisation. If the
firm produces only a small output it may not be
possible to employ a worker solely on one process
but as the level of production increases workers
may be able to specialise, leading to a lowering of
the firm's costs.

Also the firm can reduce its per unit costs through
what is known as increased dimensions. For ex-
ample, if the size of a container is doubled its sur-
face area is increased 4 fold and its volume is in-
creased 8 fold. It is possible, therefore, to obtain
cost savings by making use of larger containers,
say, for the storage or distribution of finished
products since the cost per unit will fall. A large
firm may also devote proportionately more
resources to research and development which
could lead to an improvement in the quality of the
goods and services produced, and possibly to a
lowering of the cost per unit.

Firm also gains on marketing its products. For in-
stance, when a firm buys its raw materials in bulk it
may obtain preferential terms in the form of a dis-
count, thus reducing the cost of each unit. A large
firm may employ specialist buyers whose sole re-
sponsibility it is to purchase raw materials at the
cheapest price. Administration, advertising, and
packaging costs may also be lower for larger com-
panies since they can spread the cost over larger
orders. For example, the packaging costs per item
for 1 million units is likely to be substantially lower
than if 100 items were packaged.
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On tae finencizl fromt larger firms 2] e
5, obtzining

obeain finance on fEvows ble tenms,
foans Som financi] fiitntions 2 lower rates of
irperest. Barics will be more willing 00 gvelazn on
preferentizl tems 10 2 Large, welldaosm COmpETS:
wiich can offer move ooflaterzl 23 secity for the
jozn. than 7t will t0 2 smaller company’

Apert from this lerge Frerrs powmzlly produce more
therefore, in 2 position

then one product zod ZZ,
10 take advantzpe of ecONOMIZS of scope. Econo-
mies of soope refer o the reduction in averzze U
121 cost (ATC) made possible by z firm increzsing

goads 7t produces. The rez-
son is that the firm is zble 10 tzke zdvantzge of

z % z - '( 5

illed w25 2nd technology which czn be shared

by the difforem goods produced.

the pumber of differant

As seen in Figure zoove, 24 2 certzin level of out-
put the firm's zverzge Cosis may increzse in the
Jong run with the firm experiencing diseconomies
of seale. These diseconomics of sczle 2lso come in
2 variety of wazys. For instance, s z firm grows in
size it will possibly have z larger manzgement tearm
znd, unlike z smzll firm, it will find it difficult to
mzke decisions quickly. This czn often be the case
where compznies hzve merged znd there are tvwo
sets of manzgement with different ideas. It may be
difficult to coordinzte planning, marketing, produc-
tion znd 50 on, with z resulting increase in the
company’s cost per unit.
Moreover the workforce may feel remate and alien-
ated from the management, They may find their
jobs boring and repetitive, particularly if mass pro-
duction methods are used, and this may result in
Jow morale and poor motivation, There may be a
feeling on the part of the workforce that they are
not part of the firm and this may lead to 4 deterio-
ration in the quality of work undertaken. A 'them
and us’ situation may also develop between the
management and the workforce, possibly resulting
in an increase in the number of industrial disputes.
Thus an increase in the scale of production will in-
crease total costs but will not always reduce
company’s per unit costs.

Question 2

Explain what is meant by internal economics of

scale, and analyse the link between economices of

scale and 4 firm’s long run average cost curve.
[12]

INI/PH/Q3(a)]

"
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As zresult of becoming bigzer the firm gains integ)
nzl economies of scale and enjoys 2 Siv‘zﬁfa
where costs per unit of output fall 25 the sea,
production increzses. Tnu;’ internal SCONOmi,
srise from within the firm itself 2s 2 result of g,
decision to become large. Their impact on gy
<tructure is znalyzed on 2 firm’s long run zvery,,
cost curve. A long run 2vVeraze cost curve (LRAC
shows how per unit cost varies with scale of prg.
duction on the assumption that the least ¢op
method of production will be chosen for ezch Jeyg
of output. If the firm experiences intemal econg.
mies of scale its LRAC curve will fall as shown iy

the graph belowi:

4 . A—P = ITareasing retunns 10 scle
- or ecormmizs of sezle

LRAC

minimum efficient
«czle (MES)

(9] lm]g

In the figure above, initially an expansion of out-
put over time leads to a reduction in the unit costs.
As explained above these cost saving benefits are
referred to as internal economies of scale. They
occur because the firm’s output is rising propor
tionately faster than the inputs; hence the firm is
getting increasing returns to scale. There are 2
number of reasons why firms are likely to experi-
ence economies of scale.

Firstly, technical economies refer to the advan-
tages gained directly in the production process-
For instance, as a firm grows in size it may be able
to take advantage of increased specialization 2!
division of labour. If the firm produces only asm
output it may not be possible to employ a worke!
solely on one process but as the level of produc
tion increases workers may be able to specialis®
leading to division of labour and hence Jowering
of the firm’s per unit costs.

Furthermore, the firm benefits from what is'know‘;
as increased dimensions. For cxample, if the Si%°
a container is doubled its surface area is increas¢
4 fold and its volume is increased 8 fold: It 1S
pos-sible, therefore, to obtain cost saving® by

. or
making use of larger containers, say, for th° 5 4
A lar8

age or distribution of finished products- 5
tely more !

hich €0

firm may also devote proportiona ald

sources to research and development W
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lead to an improvement in the quality of the goods
and services produced, and possibly to a lowering
of the cost per unit. Moreover a large firm can af-
ford to link certain processes which lower cost per
unit of output. For instance, a large firm can afford
to have a rolling mill next to a steel mill, thus the
steel is immediately rolled flat while still hot thus
avoiding the need to reheat the steel sheet.
Secondly, the firm also gains on marketing its prod-
ucts. For instance, when a firm buys its raw mate-
rials in bulk it may benefit from preferential terms
in the form of a discount, thus reducing the cost of
each unit. Also a large firm may employ specialist
buyers whose sole responsibility is to purchase
raw materials at the cheapest price. Administration,
advertising, and packaging costs may also be
lower for larger companics since they can spread
the cost over larger orders. For example, the
pack-aging cost per item for 1 million units is likely
to be substantially lower than if 100 items were
packaged.

On the financial front larger firms may be able to
obtain finance on favourable terms, obtaining
loans from financial institutions at lower rates of
interest. Banks will be more willing to give loan on
preferential terms to a large, well-known company,
which can offer more collateral as sccurity for the
loan, than it will to a smaller company.

Apart from this large firms normally produce more
than one product and are, thercfore, in a position
to take advantage of economies of scope. Econo-
mies of scope refer to the reduction in average to-
tal cost (ATC) made possible by a firm increasing
the number of different goods it produces. The rea-
son is that the firm is able to take advantage of
skilled staff and technology which can be shared
by the different goods produced.

Thus increasing scale of production may generate
internal economies of scale leading to a reduction
in costs per unit of output.

Question 3

Discuss whether it is always advantageous for a
firm to grow in size. [12]

[J11/P4/Q4(a)]

Cost 4

Essay

There are a number of reasons for a firm to wish to
grow. In most cases firms target growth as their ob-
jective in order to reduce their average costs and
hence take advantage of economies of scale.
Economies of scale have the effect of increasing
the productive capacity of the business and they
help to raise profit margins. They also give a busi-
ness a competitive edge in domestic and interna-
tional markets. In other cases firms may wish to
grow to increase their market dominance thereby
giving them increased pricing power in specific
markets. Monopolies for example can engage in
price discrimination. Also the expansion of a busi-
ness might be motivated by a desire to diversify
production and sales so that falling sales in one
market might be compensated by healthier demand
and output in another market.

Whatever motivates a firm to grow, the impact can
be explained on the firm's long run average cost
curve. A long run average cost curve (LRAC)
shows how per unit cost varies with output on the
assumption that the least cost method of produc-
tion will be chosen for each level of output. If the
firm experiences economies of scale its LRAC
curve will fall but if diseconomies of scale predomi-
nate, the LRAC curve will rise. If the firm experi-
ences neither of them, the LRAC curve will be hori-
zontal as shown in the figure below:

\ S LRAC
] - SRAC: srac,
O q, q. 0[][]’:7(

3~ — 3

Economies of scale Diseconomies of scale

In the figure above, initially an expansion of out-
put over time leads to a reduction in the unit costs.
These cost saving benefits are referred to as
economies of scale. They occur because initially
the firm's output rises proportionately faster than
the inputs. These benefits come in a variety of
ways known as technical, marketing, financial,
managerial and risk bearing economies.

Firstly the firm gains from technical economies. As
a firm grows in size it may be able to take advan-
tage of increased specialisation. If the firm pro-
duces only a small output it may not be possible
to employ a worker solely on one process but as
the level of production increases workers may be
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able to specialise, leading to a lowering of the
firm's costs.

Secondly, the firm can reduce its per unit costs
through what is known as increased dimensions.
For example, if the size of a container is doubled its
surface area is increased 4 fold and its volume is
increased 8 fold. It is possible, therefore, to obtain
cost savings by making use of larger containers,
say, for the storage or distribution of finished
products since the cost per unit will fall. A large
firm may also devote proportionately maore re-
sources to research and development which could
|g§d to an improvement in the quality of the goods
and services produced, and possibly to a lowering
of the cost per unit.
Firm also gains on marketing its products. For in-
stance, when a firm buys its raw materials in bulk it
may obtain preferential terms in the form of a dis-
count, thus redueing the cost of each unit. A large
firm may employ specialist buyers whose sole re-
sponsibility it is to purchase raw materials at the
cheapest price. Administration, advertising, and
packaging costs may also be lower for larger com-
panie§ since they can spread the cost over larger
orders. For example, the packaging costs per item
for 1 million units is likely to be substantially lower
than if 100 items were packaged.

On the financial front larger firms may be able to
obtain finance on favourable terms, obtaining
loans from financial institutions at lower rates of
interest, Banks will be more willing to give loan on
preferential terms to a large, well-known company,
which can offer more collateral as security for the
loan, than it will to a smaller company!

In addition the large firms normally produce more
than one product and therefore take advantage of
gconomies of scope. Economies of scope refer to
the reduction in average total cost (ATC) made
possible by a firm increasing the number of differ-
ent goods it produces. The reason is that the firm
is able to take advantage of skilled staff and tech-
nolggy which can be shared by the different goods
produced.

As meptioned above, with the firm experiencing
diseconomies of scale its average costs may in-
crease. These diseconomies of scale also come in
a variety of different ways. For instance, as a firm
grows in size it will possibly have a larger manage-
ment team and, unlike a small firm, it will find it dif-
ficult to make decisions quickly. This can often be
the case where companies have merged and there
are two sets of management with different ideas. It
may be difficult to coordinate planning, marketing,
production and so on, with a resulting increase in

the company's cost per unit.

Moreover the workforce may fecl remote and q;,
ated from the management. They may find thc?'
jobs boring and repetitive, particularly if magg pror
duction methods are used, and this may regy, i';
low morale and poor motivation. There may be 4
feeling on the part of the workforce that they gy,
not part of the firm and this may lead to a deterio.
ration in the quality of work undertaken, A then,
and us' situation may also develop between th,
management and the workforce, possibly resulting
in an increase in the number of industrial disputeg,

It is incontestable that nowadays, firms that ope.
ate on a large scale and can thereby maximise the
potential of economies of scale and scope, Hoy.
ever, economic realitics also mean that amidst the
big firms there are small businesses competing in
the same markets and industries.

One cannot ignore the impact of specialisation and
quality. While firms that exploit economies of scale
and can become major players in an industry asa
whole, there is always room for countless small
firms to find a niche in which they can perform
better than any other firm, including the biggest
ones. A great example of this is in the financial ser
vices industry. There are several large players -
Citigroup, AIG Bank of America, HSBC, Merrill
Lynch and JP Morgan to name a few) — however
there also exist myriad small businesses that have
a niche (often very obscure) in which they can
perform better than anyone else.

Also the continued survival of small firms in mar
kets where large firms might dominate is caused by
the size of the market itself and the factors such as
demand for specialised or high-quality product
that can not necessarily be answered by large
firms capable of exploiting economies of sealo,
Thus the growth of firm is not always ndvqnltv
geous rather large firms are prone to suffer from
disadvantages when they grow in size |arger that
the optimum,

Question 4

™
(a) Consider whether small firms should be encti\m

aged in an economy. :
) lQ\\‘c
(b) Economic theory states that large firms have

average costs than small firms.

)
. " S N rll)’ "u
Discuss whether this statement 1S necesst (1l

i

_’—'ﬂ/

4
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Essay
(@) It is incontestable that nowadays, firms that oper-

ate on a large scale and can thereby maximise the
potential of economies of scale and scope, How-
ever, cconomic realities also mean that amidst the
big firms there are small businesses competing in
the same markets and industries,

One cannot ignore the impact of specialisation and
quality. While firms that exploit economjes of scale
and can become major players in an industry as a
whole, there is always room for countless small
firms to find a niche in which they can perform
better than any other firm, including the biggest
ones, A great example of this is in the financial ser-
vices industry. There are several large players —
Citigroup, AIG, Bank of America, HSBC, Merrill
Lynch and JP Morgan to name a few — however
there also exist myriad smal| businesses that have

a niche in which they can perform better than any-
one else,

In other cases firms usually continue to operate at
relatively smaller scale where the markets have
been confined to fairly small regions, Thus small
firms are useful in satisfying market demand where
the absolute size of the market is small,

A more general advantage of small firms is that,
while costs may fall for standardized goods, there
is often a demand for variety, which can involve

‘large firms in exceptionally high costs, This allows

small flexible firms producing a few differentiated
products to survive,

More often small firms are attributed with product
innovation and introduction of new products and
ideas, At the early stage of a new product, total de-
mand is typically low, costs of production are high
and many small firms try to get ahead of their com-
petitors by finding the twist that appeals to con-
sumers or the technique that slashes their costs.

In certain industries, such as restaurants and
beauty parlors, personal services are required due
to the variation in the customers' requirements, It
is not feasible for larger firms to provide that kind
of attention to the individual buyers,

Some small firms exist because they supply stan-
dardized parts to a large firm, The costs of compo-
nents in certain industries may rise sharply as
output increases, giving advantage to small size,

In addition encouraging small businesses is
viewed as part of the government policies to re-
duce unemployment. Governments around the
world support small firms because they not only
Create employment but also provide necessary

(b)

competition to large firms, Governments adopt vari-
ous measures to assist small firms such as finan-
cial and technical support and most importantly tax
rebates,

Thus small firms, so the theory goes, operate in
those industries, which provide personal seryices,
produce expensive luxury items and satisfy de-
mand for variety products.

However having small firms can prove disadvanta-
geous in certain industries. Panicularly in indus-
tries where substantial economies of scale exist,
large firms are preferable because they can benefit
from economies of scale and pass on the cost ad-
vantages to the buyers in the form of lower prices.
If the firms in such industries remain relatively
small they cannot benefit fully from the economies
of scale and thus produce at a higher per unit cost
and deny the consumers from the possibility of
lower prices. It is particularly important if the coun-
try is looking to sell its products internationally.
Furthermore, small firms usually do not have the
capacity and finances available for research and
development. Industries such as pharmaceuticals
and engineering need to invest heavily in research
and development in order to develop new prod-
ucts and production processes. There is, therefore,
a need to have relatively large firms with enough
finances to afford the much needed research and
development.

Thus it follows that small firms should be encour-
aged because not only they fill the spaces in the
market left by large firms but they also provide
necessary competition to large firms and in many
cases help the authorities to keep the level of un-
employment low. However in particular cases the
existing small businesses should be encouraged to
grow big and gain from possible large scale cost
advantages.

There are a number of reasons for a firm to wish to
become large. In most cases firms target to reduce
their average costs by taking advantage of econo-
mies of scale. Economies of scale have the effect
of increasing the productive capacity of the busi-
ness and give a business a competitive edge in
domestic and international markets. In other cases
firms may wish to become large to increase their
market dominance thereby giving them increased
pricing power in specific markets. Monopolies for
example can engage in price discrimination. Also
the expansion of a business might be motivated by
a desire to diversify production and sales so that
falling sales in one.-market might be compensated
by healthier demand and output in another market.
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Whatever motivates a firm to increase its size of

production, the impact can be explained on the

firm's long run average cost curve. A long run av-
erage cost curve (LRAC) shows how per unit cost
varies with output on the assumption that the least
cost method of production will be chosen for ea.ch
level of output. If the firm experiences economies
of scale its LRAC curve will fall but if
diseconomics of scale predominate, the LRAC
curve will rise. If the firm experiences neither of
them, the LRAC curve will be horizontal as shown
in the figure below:

Cost T
LRAC
\ SRAC,
. o SRAC, grac,
Cl
o % q Oulpurl
Economies of scale Diseconomies of scale

In the figure above, initially an expansion of out-
put over time leads to a reduction in the unit costs.
These cost saving benefits are referred to as
economies of scale. They occur because initially
the firm's output rises proportionately faster than
the inputs. These benefits come in a varicty of
ways known as technical, marketing, financial,
managerial and risk bearing economics.

Firstly the firm gains from technical economics. As
a firm grows in size it may be able to take advan-
tage of increased specialisation. If the firm pro-
duces only a small output it may not be possible
to employ a worker solely on one process but as
the level of production increases workers may be
able to specialise, leading to a lowering of the
firm's costs.

Secondly, the firm can reduce its per unit costs

through what is known as increased dimensions.

For example, if the size of a container is doubled its

surface area is increased 4 fold and its volume is

increased 8 fold. It is possible, therefore, to obtain

cost savings by making use of larger containers,

say, for the storage or distribution of finished

products since the cost per unit will fall. A large

firm may also devote proportionately more re-

sources to research and development which could

lead to an improvement in the quality of the goods

and services produced, and possibly to a lowering

of the cost per unit,

Firm also gains on marketing its products. For in-

stance, when a firm buys its raw materials in bulk it

may obtain preferential terms in the form of a

discount, thus reducing the cost of each unit,
large firm may employ specialist buyers whoge St
responsibility it is to purchasle raw materials ¢ the
cheapest price. Administration, advertising, ang
packaging costs may also be lower for larger com.
panies since they can spread thf: cost over large
orders. For example, the packaging costs per tem
for 1 million units is likely to be substantially lowe
than if 100 items were packaged.

On the financial front larger firms may be ab)e to
obtain finance on favourable terms, obtainjy,
loans from financial institutions at lower rates Obf
interest. Banks will be more willing to give loan g,
preferential terms to a large, well-known company,
which can offer more collateral as security for the
loan, than it will to a smaller company!

In addition the large firms normally produce more
than one product and therefore take advantage of
cconomics of scope. Economics of scope refer to
the reduction in average total cost (ATC) made
possible by a firm increasing the number of differ-
ent goods it produces. The reason is that the fim
is able to take advantage of skilled staff and tech-
nology which can be shared by the different goods
produced.

As mentioned above, with the firm experiencing
discconomies of scale its average costs may in-
crease. These discconomies of scale also come in
a variety of different ways., For instance, as a fim
grows beyond a certain size it will possibly havea
larger management team and, unlike a small firm, it
will find it diflicult to make decisions quickly. This
can often be the case where companies have
merged and there are two scts of management with
different ideas. It may be difficult to coordinate
planning, marketing, production and so on, witha
resulting increase in the company's cost per unit.
Morcover the workforce may feel remote and alien-
ated from the management. They may find theit
jobs boring and repetitive, particularly if mass pro-
duction methods are used, and this may result in
low morale and poor motivation. There may be 8
feeling on the part of the workforce that they are
not part of the firm and this may lead to deteriord”
tion in the quality of work undertaken. A 'them an

us' situation may also develop between the man*
agement and the workforce, possibly resulting It
an increase in the number of industrial disputes:

Thus, from the above discussion it seems obvious
to conclude that large firms do not necessarily pro-
duce at a lower per unit cost. Rather as the f:";‘:
grows beyond a certain size its per unit costs l}“!ﬁ "
be higher than the other relatively small firms in th

same industry.
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28 and the 6th worker increases output by 29,
Marginal product then starts to fall, The 7" worker

study found that demand for tickets for exhibitj ' ' i
ama xhibiticng adds 26 units and the 8th worker just 20 units, At

ol e e, -

ata major art gallery had unitary price clasticity,

Discuss whether the law of diminishing returns
contradicts the concept of ecconomies of scale,

[13]
[N12/P4/Q2(b))

Essay

Short run production function is subject the law of
diminishing returns while a {irm may benefits from
cconomies of scale in the long run.

The short run is a time period where at least one
factor of production is in fixed supply. In order to
construct an example let’s assume that it is not
possible to change the quantity of capital i.e. fixed
in supply however it is possible to employ extra
labour and purchase raw material in the short run,
hence they are called variable factors.

In the short run, the Iaw of diminishing returns
states that as we add more units of a variable input
to fixed amounts of other inputs, the change in
total output will at first rise and then fall. In other
words diminishing returns to labour occurs when
marginal product of labour starts to fall. This
means that total output will be increasing at a de-
creasing rate. This can be illustrated from the table
below;

. Number Total | Marginal Average
Capital of Workers prosiucl product | product
(TP) (MP) (AP)
20 0 0 - -
20 | 5 5 5
20 2 16 9 8
20 3 30 14 10
20 4 56 26 14
20 5 85 29 17
20 6 114 29 19
20 7 140 26 20
20 S 160 20 20

Average product measures output per-worker-em-
ployed and is obtained by dividing TP on workers.
Marginal product is the change in TP resulting
from employing one more worker. MP is calculated
by dividing the change in TP on the change in
Workers, Alternatively we calculate MP by

TP, - TP, =MP.

Initially, marginal product is rising — e.g. the 4™
Worker adds 26 to output and the 5th worker adds

the point of 7" worker production demonstrates
diminishing returns, The reason why diminishing
returns becomes operative is that beyond a certain
point, new workers will not have as much capitai
cquipment to work with so it becomes diluted
among a larger workforce. However total output
will continue to risc as long as marginal product is
positive and average product will risc if marginal
product > average product,

On the other hand economies of scalc result in the
long run when all factors of production are vari-
able. As a result of becoming bigger the firm gains
internal cconomies of scale and cnjoys a situation
where costs per unit of output fall as the scale of
production increases. Thus internal cconomics
arise from within the firm itself as a result of its
decision to become large. Their impact on cost
structure is analyzed on a firm’s long run average
cost curve. A long run average cost curve (LRAC)
shows how per unit cost varies with scale of pro-
duction on the assumption that the lcast cost
method of production will be chosen for cach level
of output. If the {irm experiences internal econo-
mies of scale its LRAC curve will fall as shown in
the graph below:

cost | 4 MC A-=B=increasing returns to scale

SRAC or economies of scale

minimum efficient
scale (MES) R
Y output

In the figure above, initially an expansion of out-
put over time leads to a reduction in the unit costs.
As explained above these cost saving benefits are
referred to as internal economies of scale. They
occur because the firm’s output is rising propor-
tionately faster than the inputs; hence the firm is
getting increasing returns to scale. There are -
number of reasons why firms are likely to expe::.
ence economies of scale.

Firstly, technical economies refer to the advan-
tages gained directly in the production process.
For instance, as a firm grows in size it may be able
to take advantage of increased specialization and
division of labour. If the firm produces only a small
output it may not be possible to employ a worker




S Level Economics (Essays)

—\

solely oh one process but as the level of produc-
tioh incteases workers may be able to specialise,
leading to division of labour and hence lowering
of the firm®s per unit costs.

Furthermore, the firm benefits from what is known
as increased dimensions. For example, if the size of
a container is doubled its surface area is increased
4 fold and its volume is increased 8 fold. It is pos-
sible, therefore, to obtain cost savings by making
use of larger containers, say, for the storage or dis-
tribution of finished products. A large firm may also
devote proportionately more resources to research
and development which could lead to an improve-
ment in the quality of the goods and services pro-
duced, and possibly to a lowering of the cost per
unit. Moreover a large firm can afford to link cer-
tain processes which lower cost per unit of output.
For instance, a large firm can afford to have a roll-
ing mill next to a steel mill, thus the steel is immedi-
ately rolled flat while still hot thus avoiding the
need to reheat the steel sheet.

Secondly, the firm also gains on marketing its prod-
ucts. For instance, when a firm buys its raw mate-
rials in bulk it may benefit from preferential terms
in the form of a discount, thus reducing the cost of
each unit. Also a large firm may employ specialist
buyers whose sole responsibility is to purchase
raw materials at the cheapest price. Administration,
advertising, and packaging costs may also be
lower for larger companies since they can spread
the cost over larger orders. For example, the pack-
aging cost per item for 1 million units is likely to be
substantially lower than if 100 items were pack-
aged.

On the financial front larger firms may be able to
obtain finance on favourable terms, obtaining
loans from financial institutions at lower rates of
interest, Banks will be more willing to give loan on
preferential terms to a large, well-known company,
which can offer more collateral as security for the
loan, than it will to a smaller company.

From the above explanation, it follows that there is
no contradiction between law of diminishing re-
turns and the concept of economies of scale. The
former is operative in the short run while the latter
is applied in the long run. In fact the two concepts
can be used together to explain the behavior of
production and costs but in different time periods.

Question 6

: s
(a) Explain the meaning of, and the relationship p,,
tween, diminishing returns, total product and mg,.
ginal cost. Use a diagram to illustrate your angyg,
(12)
®) ‘Firms undertake vertical and horizontal integratiop
to grow in size. They achieve beneficial economjeg
of scale through growth.’

Consider whether economies of scale are alwayg
caused by integration and whether, therefore, thee

is no place for small firms in modern economy,
(13)
[N15/P4/Q3)

Lssay

(a) Production in the short run is subject to the law of
diminishing returns also known as the law of vari-
able proportion. Short run is the time period when
at least one factor of production is fixed in supply
and the law states that when increasing amounts
of a variable factor are used with a given amount
of a fixed factor, there will come a point when each
extra unit of the variable factor will produce less
extra output (marginal product MP) than the previ-
ous unit. In other words it means that the increase
in total output will become progressively smaller
as more units of the variable factor are applied to
the same quantity of fixed factors. Total product
(TP) represents the output of a product obtained
from a given mix of resources per period of time. In
order to explain the law let’s assume that the fixed
factor is land and the variable factor is labour and
the firm increases its number of workers on the
same amount of land. We can analyze the results
on the following sequence of three different
graphs.
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It can be noted that the TP rises at a lower rate
beyond point ‘a’. It signifies a decrease in MP be-
cause the slope between two successive points
becomes flatter. So point ‘a’ is marked as the onset
of diminishing returns. When we trace the same
point on the graph below we find that beyond this
point MP declines and when MP falls to zero TP is
maximized. On its way down MP intersects AP at
point ‘b’ that is marked as the highest value of AP.
We can trace this point on the TP curve as indicat-
ing by the highest slope on a point from the origin.
So we obtain this typical pattern of MP curve that
initially shows a rise in MP and then beyond a
certain point when diminishing returns sets in, it
starts to fall.

But what is more significant to note is the pattern
of marginal cost (MC) curve that is directly linked
to MP and hence diminishing returns. MC is de-
fined as the extra cost incurred for the production
of an additional unit of a good and it is linked to
the cost incurred on variable factor. Initially as
more of the workers are employed, extra units of
output cost less than the previous units indicated
by a fall in the MC curve. This corresponds to the
rising portion of MP curve that leads to a fall in
average variable cost. Beyond a certain point, how-
ever, diminishing returns takes effect and causes
MP to decrease and hence MC to rise.

Thus it can be concluded that the shape of the MC

®)

curve follows directly from the law of diminishing
returns,

Firms can grow in size either by investment in new
plants and machines that is known as internal
growth or else they can opt for some form of inte-
gration that is called external growth. In many
cases firms target growth through integration in
order to reduce their average costs and hence take
advantage of economies of scale. These advan-
tages come in a variety of ways known as techni-
cal, marketing, financial, managerial and risk bear-
ing economies.

As a firm grows in size it may, for instance, benefit
from increased specialization. The firm may also
gain on marketing its products. When, for instance,
a firm buys its raw materials in bulk it may obtain
preferential terms in the form of a discount, thus
reducing the cost of each unit. On the financial
front a larger firm may be able to obtain finance on
favourable terms, obtaining loans from financial
institutions at lower rates of interest. In addition to
this a large firm normally produces more than one
product and therefore takes advantage of econo-
mies of scope. Economies of scope refer to the re-
duction in average total cost (ATC) made possible
by a firm increasing the number of different goods
it produces. The reason is that the firm is able to take
advantage of skilled staff and technology which
can be shared by the different goods produced.

Economies of scale have the effect of increasing
the productive capacity of the business and they
help to raise profit margins. They also give a busi-
ness a competitive edge in domestic and interna-
tional markets. However there are a number of other
reasons for firms to wish to become large through
integration. Taking advantage of economies of
scale is only one of them and it is not necessarily
achieved only through integration. In fact it can be
achieved by internal growth as much as through
integration. In other cases firms may wish to be-
come large to increase their market dominance
thereby giving them increased pricing power in
specific markets. Monopolies for example can
engage in price discrimination. Also the expansion
of a business might be motivated by a desire to
diversify production and sales so that falling sales
in one market might be compensated by healthier
demand and output in another market. Usually the
underlying objective of integration is to achieve a
rapid growth of market. This usually is typical with
manager-controlled businesses where the annual
salaries and other perks might be more closely
correlated with total sales revenue rather than
profits.
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So firms achieve growth by integration for a vari-

ety of different purposes and achieving economies
of scale is just one of them.

Secondly it is true that firms through growth man-
age to gain cost advantages that they can use
them to drive the small firms out of the industry
who normally don’t have the same advantages.
However, it is also true that small firms such as
sole traders and many partnerships, while operat-
ing with the view to maximize profit, prefer to re-
\ main small and survive successfully. One of the
: ! prime reasons for this continued existence of small
concerns is the desire to be one’s own boss; once
this desire is met entrepreneurs may be content
with a relatively quiet life and achievement of a
satisfactory level of profit. Not only this the firm
may remain small in order to take advantage of a
"low price elasticity of demand and high income
elasticity of demand for specialist “niche’ goods
and services - these products can be sold at a
higher price and with a bigger profit margin. Also
some firms remain small because they can avoid
diseconomies of scale associated with larger firms.
Other small firms survive because they assist the
larger firms by producing some components of
their products at relatively lower cost.
So we conclude that there is a possibility of firms
achieving economies of scale regardless of the
method they choose for their growth. Secondly
whether integration takes effect into economies of
scale is also uncertain; there is, therefore, room for
small firms to survive successfully.




